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2.64 x 10 = 5387 x 10 =
6.246 x 10000 = 7.136 x 1000000 =
2.565 x 10000 = 2455 x 10 =
5.969 x 100 = 6.687 x 100000 =
3.202 x 1000000 = 2.261 x 10000 =
5.993 x 10000 = 1.428 x 10 =
10.296 x 1000000 = 4.395 x 100 =
8.218 x 1000000 = 5.891 x 100 =
7.03 x 10 = 1.157 x 10000 =
1.153 x 1000000 = 3.192 x 100000 =
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2.64 x10=26.4 5.387 x 10 = 53.87

6.246 x 10000 = 62460 7.136 x 1000000 = 7136000
2.565 x 10000 = 25650 2455 x 10 = 24.55

5.969 x 100 = 596.9 6.687 x 100000 = 668700
3.202 x 1000000 = 3202000 2.261 x 10000 = 22610
5.993 x 10000 = 59930 1.428 x 10 = 14.28

10.296 x 1000000 = 10296000 4.395 x 100 = 439.5

8.218 x 1000000 = 8218000 5.891 x 100 = 589.1

7.03 x 10 =70.3 1.157 x 10000 = 11570
1.153 x 1000000 = 1153000 3.192 x 100000 = 319200

www.snowmath.com



https://www.snowmath.com

